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Section Id : 97108340

Section Number : 1
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Number of Questions : 100

Number of Questions to be attempted : 100

Section Marks : 100

Mark As Answered Required? : Yes

Sub-Section Number : 1

Sub-Section Id : 97108347

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9710833604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lichanes are pollution indicators of the gas
Tl & (Bod sy srensy SrdEe BOEPARED?
Options :
SO,

3B B ¥B)& SO,
97108314401. ¢ ¥ :



™,
97108314402, % e

97108314403, #

97108314404, # a}és

Question Number : 2 Question Id : 9710833605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Puccina two nuclei are fused in which spores
388" B ToESEENe JSoGrrSy Tot FHS
Options :
Uredospores
97108314405, % C0E 3'359',5@
Aeciospores

by By 51 %Em
97108314406 %



Telutospores

Boes® 5B

97108314407, ¢

Basidiospores

B8 ErR5Ben
97108314408. #

Question Number : 3 Question Id : 9710833606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the species is used in production of penicillin
YOI SEPBHUEDEHE” SDFERDNE DYSY o8
Options :
Penicillin italicum

=T N
07108314400, % SNOS BEFOTD

Penicillin digitatum

YOS BEBo

97108314410. %
Penicillin griseofulvum

20T B> BErdero
[y¥, @l
97108314411. #



Penicillin notatum

2YPOI FBeo
97108314412, ¢

Question Number : 4 Question Id : 9710833607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the drug controls the Asthma disease
R 2apXD SRODHLD SBEFACT BRsEW
Options :

Ephedrine
97108314413, ¢ DDES

Taxol

¢SS

97108314414, % o)

Colchicine

T@J?&E

97108314415, #
Andrographolide

wo|&rOBE
97108314416, % o =

Question Number : 5 Question Id : 9710833608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Meristematic tissue in present in the sporophyte
Qegregs Bes erodin HR) fatg&mcﬁo (835:]55 22¢5)

Options :
Riccia
88\ oso
07108314417, % ™
Marchantia
&“Dﬂéﬂd{:ﬁ:ﬁ

97108314418. #

Anthoceros
SO Ten
07108314419, + ée

Polyvtrichum

FOTES
97108314420. #

Question Number : 6 Question Id : 9710833609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Polvtrichum the spore liberation is regulated by
POBESE Bletiorn hexs DoHo@OT grridm

Options :



Operculum

oo
97108314421, %

Annulus

97108314422, # DR

Columella
e B

Ol e el
—

97108314423, #

Peristome

2ORES

97108314424, ¢

Question Number : 7 Question Id : 9710833610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the sporophyte contains elaters
3B DY ?chﬁﬁaﬁo
Options :
Marchantia

eI 0%
07108314425. ]



Anthoceros
wofhoeh
97108314426, % X
Polytrichum

FOBES
97108314427, %

Riccia

&&Qcﬁ:ﬂ
97108314428, %

Question Number : 8 Question Id : 9710833611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The type of female gametophyte develops in the Gnetum

-

DODSE § vodrK deo $8E5w B0
Options :
Bisporic type
&r2xs ez $85 80
97108314429, # * © <
Tetrasporic type

ﬁé.;ieg o083 cﬁgﬁ “%0
97108314430, ¥



Monosporic type

QBDG ez HBZo 8o

97108314431, % -
Allium type

eDHI 830
97108314432, %

Question Number : 9 Question Id : 9710833612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of Cycas species restricted to dry hills of Cuddapa in Andhrapradesh
5B =8 Tl SoFHRSS D &8 Foked SrEDH HONSIH6.
Options :
Cvcas beddomei
=¥

255 BED

= o G

2N

97108314433, ¢

Cyvcas rumphii

D Do
97108314434, %

Cvcas revoliita

Pt 6@05@
- e ]
97108314435, %



Cycas pectinata

26T 1836
97108314436. #

Question Number : 10 Question Id : 9710833613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the Lycopodium species contains mixed protostele
BEFECHD o8 IoBS” WFD (BB Jogso Hod
Options :

Lycopodium cernum
97108314437, ¢ SEFESD BB

Lycopodium serratum

SEDPEDD oo

97108314438. # =

Lvcopodium clavatum
BEENFEHD TROD

e (]

97108314439 #

Lycopodium volubile
SE P& TS

-

97108314440. #



Question Number : 11 Question Id : 9710833614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the genus do not contain amphiphloic siphonostele

Gesosls DY (108 Jogio B (Herd.

Options :

Adiantum

&P (Adiantum)

07108314441, # =

Marsilea

é}éﬁj@cﬁlﬂ (Marsilea)

97108314442,
Dipteris
&0 (Dipteris)

07108314443, % €

Osmunda

o, e (Osmunda)
07108314444, + o

Question Number : 12 Question Id : 9710833615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lycopodium produces the spermatozoids with number of flagella
B FPBoHD HBA flesdeaod® Kot Zevcre Sogy

Options :



Two flagella

o =on
97108314445, ¢ Sotd Eavgren

Four flagella

L sy
07108314446, % T STEEeD

Many flagella
OIEDD Boegren
97108314447, %

No flagella

-
07108314448, % ST TTED OB

Question Number : 13 Question Id : 9710833616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following winged pollen grains are present?
Bod Q& SZens) oK Beaoden
Options :

Cyveas

=K

Ot s P

97108314449, % =



Pinius

R

97108314450. ¢ =

Gnetum
97108314451, % KJE,JSJ
Zamia
arw 7=
97108314452, % SD%
Question Number : 14 Question Id : 9710833617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the class is not there in Sporne classification of gymnosperms?

DS oo B9G) SOE8IwS° B S5K8
Options :

Cvcadopsida

PV TRYT®
97108314453, %

Coniferopsida

p:ng e | £
s OPa)\T3®
97108314454, % PFa))



Gnetopsida
Dertn o
97108314455, % i
Poteridospermopsida

P lalal _E:.;;jﬂﬂégﬁn]
97108314456, ¥

Question Number : 15 Question Id : 9710833618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the classification is not based phylogenetic system.
Sl Dorarsd D Drdo == ééﬁfﬁa@eﬁm
Options :

Bentham and Hooker

Do) B %0
97108314457, ¢ c

Engler and Prantil

2000 - B (FodS
97108314458, %

Hutchinson

PO D
97108314459, %



Cronquist

(eigel=gs)
97108314460, % i

Question Number : 16 Question Id : 9710833619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Only one pollen grain develops from microspore mother cell
”’m@e Eaegﬁ;ﬁ é.z"'ﬂs‘%ﬁi'a?:ﬂl} 5009 2.8 . YooK Beand @ﬁ&@@ DoHod.
Options :

Poaceae

97108314461, #

97108314462, ¢

Asteraceae
TS
97108314463, # &

Fabaceae
ﬂna'\

97108314464, #

Question Number : 17 Question Id : 9710833620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Which of the plant is useful in control the hepatits B virus
(Hepatitis -B) Srar88% - R0 dardosesnd® abddrAod Jwd)
Options :
Phyllanthus amarus
—
SBoHR ©HED
97108314465. ¢ ™
Phyllanthus emblica
ST 0B Nod)se
97108314466, ¥ = ™ W
Gynnema sylvestre
B3NP (S
97108314467. % S
Curcuma longa

28050 erore
97108314468, % G

Question Number : 18 Question Id : 9710833621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of drug is used to control the plasmodium falciparum malaria disease?
LRHED POVVED ATBoNINS” BHTEPAC TS,
Options :



Qunine

&3
97108314469. ¢ o=
Gymnemic acid
BME ©dE
07108314470, % -

Artemisinin

@Qo"’.‘oﬁa 29

97108314471, ¢
Vincristine

2e
97108314472, % D "‘ﬁg

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 19 Question Id : 9710833622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AYUSH is not related one of the medicine system
& 3 THEwS® BB SowoPKn BB
Options :

Ayurveda

Eovrnlogin
07108314473, # L



Unani

G
97108314474, %

Homoeopathy

FE TN
97108314475, %

Allopathy

o&Hs
97108314476, ¢

Question Number : 20 Question Id : 9710833623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Floridine starch is the reserve food material of
§P0800S 78 der, 6 STEOrT E0¢00R.

Options :
Chlorophyceae
97108314477. # SRR
Cynophyceae
3090 3%

97108314478, #



Phaeophyceae
PP 2R
97108314479. ¥

Rhodophyceae
el

97108314480. ¢

Question Number : 21 Question Id : 9710833624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Isomorphic alternation of generation is characteristic feature of
SEen > Enifery @ﬁ?g@ﬁ £DSSE e 2038.

Options :
Chlorella
SHELo
97108314481. %
Oscillatoria
O BOSe
97108314482, % '
Ectocarpus
NP ED
e o)

97108314483, ¢



Laminaria

erOZBOST
07108314484, #

Question Number : 22 Question Id : 9710833625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The antheridium of Chara 1s known as

ooor G0 DA 28 Lerdoho 2%
o (]

Options :
Nucule
Srereeds
97108314485. % = 7
Ooblast
&R

97108314486, # i

Globule
esrerd

97108314487.« — ¥

Cystocarp
By A

97108314488. #



Question Number : 23 Question Id : 9710833626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the vitamin is not available in Mushrooms
2 Frnes® ofos50 e

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :

Vitamin-B

Déaded - B
97108314489.

Vitamin-C

D& - C
97108314490.

‘»--"itamiu-]i'.12

DLW ~ B
97108314491. =

Vitamin-E

Deasnd - E

97108314492.

Question Number : 24 Question Id : 9710833627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In Mushrooms, which of the nutrient is available high amount?
q@%ﬁﬁ&oﬁ}@eﬁ‘s Chiatctvwioy ofod S8RK ;’Jmﬂgm
Options :
Potasium

SPEFEDCD0o
97108314493, ¢ =

Phosphorus

v
Ty B0

07108314494, % ol
Sodium

Widnlovrle)

97108314495. #

Calcium

== 0%0
97108314496, % -

Question Number : 25 Question Id : 9710833628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tikka disease of ground nut is caused by
JESK IES° Hof) Brden EDoT BOOEEHW

Options :



Colletotrichum falcatum
SOE° | Bpo FO)0
97108314497, # s
Cercospora personata
SEHREE BB Rer
97108314498. ¢ €

Puccinia graminis

DERAT (D
97108314499, %

Albugo cadida

@%F@ oG
97108314500, *

Question Number : 26 Question Id : 9710833629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The genus Mucor comes in which subdivision of fungi
BDoEEOS® Horxsed (Herd D 6 DEKEnS® $3os.
Options :
Basidiomycotina

BHERF ST
97108314501, # R=



Mastigomycotina

SO A
97108314502, # e =

Zygomycotina
B A

[T

97108314503, ¥

Deuteromycotina

&8 8=
97108314504, % O =

Question Number : 27 Question Id : 9710833630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bacterial blight of rice is caused by
58 InFes® E800S B Zenn TS

Options :

Xanthomonas campestris
FO& BT Wa.ao::f-‘ﬁ
97108314505, %

Xanthomonas malvacearum

97108314506. % o8 I 55’“@ YOS D



Xanthomonas orvzae

oS TrTD 0%
97108314507, ¥ =

Psuedomonas solanacearum

& BTl SPoThi-dS

97108314508. #

Question Number : 28 Question Id : 9710833631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Gelidium 1s source of
208090 H0d ©DoHsd
Options :
Agar-agar

orrd - oreb
97108314509, ¢

Alginic acid

wOE vxpo
97108314510. # = '

Tanic acid

Q8 expo
97108314511, % '



Todin

_‘_uﬂ'
97108314512, # OFPES

Question Number : 29 Question Id : 9710833632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The cell wall of blue green algae is made up of
QD @) Bheosnod® SedBstn 8" GEH ot

Options :
Cellulose
= - "‘.’E
07108314513, % SOLS S
Mucopeptide
éxgﬁa = ?L;E
97108314514, ¢
Pectin
)
97108314515, % B
Chitin
2R3

97108314516. # =

Question Number : 30 Question Id : 9710833633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Who demonstrated DNA is the genetic material by using radio labels
AT )% S8 TPOEE &.98.0 o ey Sergsnr AErH0NS 3.
Options :

Frederick Griffith

=0, 8 L
97108314517, % 2OBS (DS
Avery, Macleod and Mc Carty
e, Irderont HOED HE =B
97108314518, *

Hershey and Chase

228y X805 IE
97108314519, ¢ o

Andrew fire & Craig Mellow

o&S 28 Hdcs» ER ek
97108314520. % -

Question Number : 31 Question Id : 9710833634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The endosperm ploidy in gymnosperims is
DS Deres® wod Bsn @Y s oo Hasw

Options :



Diploid
ErR&80
97108314521, % @
Haploid
BB
97108314522. ¢ @
Triploid
|SoDR&EHD
97108314523, % @
Pentaploid

N0 aE5)
97108314524, # ©

Question Number : 32 Question Id : 9710833635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Angiosperm phylogeny group (APG) classification monocots are placed
o5 Deo BE DEI 8L (APG) $E850S* DESE dere $55
Options :
Prior to dicots

B Blesdne 208 S00050
97108314525, % o



Monocots are placed in between primitive dicots and evolved dicots.
JoeES B Bshesve 2000 o) TobS &rE¥ e SR eoSHEID
97108314526. ¥ e @ & =
After dicots
&r5¥ fatoe $HS
97108314527 % &
Here and there within dicots

& 55¥ Dessno&® ©drd TEESD
97108314528. #

Question Number : 33 Question Id : 9710833636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In India Bennettitales are found in the region
FEERIEE” BI BES) 28¢5 HBoD HHD?

Options :
Nilgiris
é@ﬁgﬁ
97108314529, %
Shivalik hills

208 Hrmeen
97108314530, % o



Raj Mahal hills
97108314531, ¥ © o BFS D Ee
Vindhyan range

Doy Bof
97108314532, ® o

Question Number : 34 Question Id : 9710833637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The stomatal development type is Bennettitales
TVBESDS® HiEBogren @&é&% @) BEHOND Bohda?

Options :
Haplocheilic
QPRS0 OE

97108314533, % An
Syndetocheilic
. "g_\ ?IE

07108314534, v QOOBE RODOOE
Mesogenous
PR

97108314535, #



Perigenous
DBEID
97108314536, #

Question Number : 35 Question Id : 9710833638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the family having more number of species
& Hevoondos® @ﬁ};& ﬁoa&;@‘? e&en P[P

Options :
Asteraceae
B0
97108314537. ¢ &
Fabaceae
S
97108314538, % & =
Orchidaceae
sOGN
97108314539, % =
Poaceae
SES

97108314540. #

Question Number : 36 Question Id : 9710833639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
‘Which of the family having cyathium Infrlorescence

& 000508 HoTeachSD D) TR0 HotH.

Options :
Orchidaceae
CLla)nrs
97108314541, # G
Asteraceae
58S

97108314542, # &

Fabaceae

BV

97108314543, #

Euphorbiaceae

R o
97108314544, ¢

Question Number : 37 Question Id : 9710833640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One specimen or element used by author, designated by him as nomenclatural type
BSomis 2.8 SXrerrd o0 TE Sreiin D6 aDTPALR TEESn S550T JrdoDdions
@ B0

Options :



Lectotype
385
97108314545, % EE=

Isotype
2RSS
97108314546, #
Paratype
TTED

97108314547, #

Holotype
FS°BD

97108314548, ¢

Question Number : 38 Question Id : 9710833641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the gene is not related with Angiosperm phylogeny group (APG) classification?
& Bod T0E° D wdyd ePS dere ST DK (APG) BEdw $855c:505% TobSe.
Options :

ATP B gene

ATPB &%

o,

97108314549 #



rbcL (Large subunit) gene

rbelL ('a‘.xg 628750 ) ﬁé};@
97108314550. #

18s r RNA gene

97108314551, % 18sTRNA 2y

16s r RNA gene

16s1r RNA 25008
97108314552, ¢ o

Question Number : 39 Question Id : 9710833642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the taxon having unisexual flowers
Svele (Taxon)S® DEDoR Haren HotHd
Options :

Zea mays

25 E
97108314553, «

Orvza sativa

2.02° 8w
[

97108314554, ¥  *=



Iriticum aestivum

OED S555
97108314555, # &
Brassica juncea

(ERE 230305
97108314556, %

Question Number : 40 Question Id : 9710833643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the virus genetic material is RNA?
0 SO iy B RNAME 3)oenod?
Options :
Tobacco mosaic virus
oS’ Freront D
97108314557. ¢ =
Phage virus
25 385
07108314558, % T EOV

Adeno viruses

085 385
97108314559, *#



Pox viruses

5P\ 38D
97108314560, % BB

Question Number : 41 Question Id : 9710833644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following anomalous secondary growth is present
& Bob 70S° wdors &;&cﬁ: SN 3 Hotwod
Options :

Pongamia

bi
97108314561. # COSIRARE

Tectona
B
97108314562, # LS

Azadirachta

lecileteley
97108314563, %

Bignonia

HR™QasTe
97108314564, ¥ i

Question Number : 42 Question Id : 9710833645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Fluid mosaic model of membrane is proposed by
L Frdo G Jpont Fwerand ST X (B8ardoT?
Options :
Singer & Nicolson
208 - %I
97108314565. ¥ ™
Davson & Danielli
CR0R — R
97108314566. # i
Robertson
0
97108314567, # =

Gorter
RE%e8

97108314568. #

Question Number : 43 Question Id : 9710833646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In prokaryotic RNA polymerase the subunit 1s required to identity the correct site for
transcription initiation.
SoBE FrY, oo ©DBERENS” RNA FOSIBE O 63 (HEreedin @FSogor Aok,

Options :



o

B (ar)
97108314569, %

97108314570. #

97108314571, #

97108314572, ¢

Question Number : 44 Question Id : 9710833647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The DNA sequence to which RNA polymerase binds to initiate transcription of gene called
ﬁé};&‘g}é’s RNA &rO588 DNA 555 Esreo&® mo80d Hok %ﬁé}:,
Options :

Promoter

AR 5
97108314573, & &0 B



Operator

~ "
97108314574, # @ﬂééus

Regulator

BHD;O0E

97108314575. #

Enhancer

aécﬁ:ﬂaﬂnﬁ
97108314576, %

Question Number : 45 Question Id : 9710833648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the nutrient induces the pollen germination. pollen tube growth
S 808 ;.’mngain:l DK Beansd DweBEErds $HB0D HTRTERD DHIDLL ADERKHER.

Options :

Magnesium

= - ey

e cHo
97108314577, % o

Boron
97108314578. ¥ Fo°S

Z11¢

208

97108314579. #



Copper

97108314580. # o0

Question Number : 46 Question Id : 9710833649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The phloem fibers in Linum 1s made up of
B%0S® DAY ez e D gamﬁfﬁa‘mﬁs Qe Fozeom
Options :

Lignin
97108314581, % E}@LS

Cellulose

e E
97108314582, ¢ o

Pectin

28
L]

97108314583, #

Cutin

o
=

97108314584, #



Question Number : 47 Question Id : 9710833650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the family consist of the endosperm
& Bod Hevorred® ©OHBHBDD TOA PR Heowxdw
Options :
Orchidaceae
97108314585, # o

Podostomaceae

S5E RO
97108314586, % e,

Trapaceae

éJ"_g"E"
07108314587, % & T

Poaceae

D52

97108314588, ¢

Question Number : 48 Question Id : 9710833651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the taxon having micropylar hastoria
& InBS° wok omBEm 3D T SREBASTeD Hotron

Options :



Impatiens rovlei

o _
97108314580, v SO IR T=C0T

Grevillea robusta
g - =y i
97108314590, % @aéﬂ 65@”*-’

Magnolia obovata

S RROoe o855
97108314591, # voo

Lomatia polymorpha

S5 OB
97108314592, %

Question Number : 49 Question Id : 9710833652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tunica carpo us theory was proposed by
¢Rz° S0 VTEOEHD DBTHoNKHE DB
Options :

Hanstein

555

97108314593, # =



Nageli

3RO
97108314594, #

Chan

97108314595, % S

Schmidt

E\jég
97108314596. ¢ &

Question Number : 50 Question Id : 9710833653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the stomata is Rubiaceous type
& BoB 0S° & GHVOHD 85208 TodS HSSoren

Options :
Anomocytic
AP HE
97108314597, % o=
Anisocytic
wATAEE

97108314598. #



Paracytic
e 0B
97108314599, ¢ &

Diacytic

EODDAE
97108314600. #

Question Number : 51 Question Id : 9710833654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the embryosac contains eight polar nuclei
&3 HoESSE50S® Q06 E%&ﬁ ﬁo@mw 3YoeToD
Options :
Pepromia type
- Qg - =
97108314601, ¢ RS BE

Drusa type

— ﬁ
97108314602, % Eree 58w

Penaea type

< o4
DT 853w
97108314603, %



Plambago type

. v
97108314604, % ﬁo‘:ﬂﬁe let

Question Number : 52 Question Id : 9710833655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FAD (flavin adenine dinuceotide) is associated with
(FAD) 3203 &3S BHEEr8E oddomrddn 5956
Options :
Pyruvic acid dehydrogenase
97108314605, ¥ 2HRE ey BERRR
Lactate dehydrogenase

B¢ &P B E3D
97108314606. * & =

Succinate dehydrogenase

SERES TS EIT

97108314607. ¥
Glutamate dehydrogenase

o8 A3rEtR3D
97108314608. %

Question Number : 53 Question Id : 9710833656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Who discovered the double fertilization?
8 PobBBIND BHFING I58?
Options :
E. Strasburger
£ &% 256
97108314609. % & i
S. Nawaschin
97108314610. ¢ S d=h
P. Maheshwari
97108314611, # g aﬁ}iﬁﬁ@a
S.S. Bhojwani

3.8 Sz
97108314612, % ol

Question Number : 54 Question Id : 9710833657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the Apomixis phenomena. not involved megaspore mother cell for development
of embryosac

& VDT D0’ Jpe bl SrZntn oK SN ©Hs° FESD



Options :
Ixeris type
50 BESD
97108314613, % ™

Taraxacum type

oS B%S®
97108314614, % o)

Allium type
~ ”,
07108314615, % SDODO BT

Hieracium type

$xB80%0 BE&m
97108314616. ¥

Question Number : 55 Question Id : 9710833658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which nutrient is applied to the soils to reduce the acidity
So e PRS0 SHODLD @ SPIZH0H SIRBTEATD
Options :
Magnesium

Ea@ﬁlcﬁ:&;-
97108314617. #



Boron

&Foed

97108314618, #

Calcium

=il dlovile)
97108314619. ¢ ~ =
Sulphur
Ro¥¥o

97108314620. #

Question Number : 56 Question Id : 9710833659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the trichome type 1s Gossypium, the fibres used i commerce.
388° aeddey B8 GIRPRESDIENS0 Terw BEHW
Options :
Unicellular trichomes
97108314621, ¢ 2 Zeaciois Toe
Uniceriate trichomes

DEBB Boeen
97108314622, ¥



Biseriate trichomes

(33 Baeen
97108314623, % o

Multiseriate Trichome

97108314624, #

Question Number : 57 Question Id : 9710833660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the perforation plate is evolved one
& (808 TR O Bol Hetsn ©DHB TosS BEHw
Options :

Simple perforation plates

OB BoohHs Srr J8E Peoceen
97108314625, ¢

Scalariform perforation
97108314626. # RED 5258 Sore

Reticulate perforations

eeers=d Bo(peen
97108314627. ¥



Forminate or Ephedroid perforations.

DI S ASiEonE Sogren
97108314628, %

Question Number : 58 Question Id : 9710833661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the ovule curvature effects the nucellues and it becomes horse shoe shaped

D VokINE", wok BB KN IS Hob, BB B, wESnS® S0 8BA Hokod

Options :

Anatropus

S wotdw
97108314629, %

Hemianatropus

OOHE voridn
97108314630. ¥ @

Amphitropu
(e e voll Sletatn )
97108314631, ¢

Campylotropus

508”030 ®ois
97108314632, %



Question Number : 59 Question Id : 9710833662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The RNA polymerase II is useful transcription of
RNA &OZ0E Il O RNA 0 S8dmé® add@rrsd

Options :

r RNA
97108314633, %

m RNA
97108314634, ¥

97108314635. # tRNA

ST RNA
97108314636, #

Question Number : 60 Question Id : 9710833663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Water potential of pure water is
SRS & S, D& 2o do& (Water Potential)

Options :

97108314637, #

Zero
97108314638. ¥



97108314639. # -1

-2
97108314640. ¥ =

Question Number : 61 Question Id : 9710833664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Osmatic potential of a solution increases with

~

o8 [Pdeesd, (Baedddes éﬁé@ 20008
Options :
Addition of solute

eS80 Ze)trde
97108314641, ¥

Addition of solvent
O Zenerded
97108314642, % \ o)

Removal of solute

QS50 BN
97108314643. #

In soluble solute

e
97108314644, % BB (TPSS0



Question Number : 62 Question Id : 9710833665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the amino acid is useful in biosynthesis IAA (Indole acetic acid)
B0E°S VAT eI (IAA) D0ZReES® SR FNNE oS wipsn

Options :
Tryptophon
&3S
97108314645, ¢
Serine
°85
97108314646, %
Methionine
LHITIR
97108314647, %
Phenylalanine
AN SIS

97108314648, #

Question Number : 63 Question Id : 9710833666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In competitive enzyme activity inhibition
ITBD B 56 k5SS



Options :
V. Increased
v 2S5

max

97108314649, #

V. decreased
' éﬁgsﬁ}

ma

97108314650. #

K decreased

K. e‘éf@c\‘s}
97108314651, % b

M. mcreased

K810
97108314652. ¢

Question Number : 64 Question Id : 9710833667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In enzyme kinetics V__ reflects
IIFD KBBZEFwS” V | HID BOHTE0ED
Options :

Amount of an active enzyme

BosredE dREDL D88
97108314653, ¥ © =



Substrate concentrations

BHD DCTEH MTES
97108314654, # i i

Half of the substrate concentrations

BN DETPEO TRES DS (Half)
97108314655. % & @

Enzyme substrate complex

DB 8N DS Hodsdw
_— i e

0e

97108314656. #

Question Number : 65 Question Id : 9710833668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Example of group transferring coenzyme is

~

Q0P 2B D AIBID GrESes

Note: For this question, discrepancy is found in question/answer. Full

Marks is being awarded to all candidates.
Options :
97108314657. NAD+

97108314658. NADP+

97108314659. CoA



97108314660. FAD

Question Number : 66 Question Id : 9710833669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the Phytohormone is used for root formation in stem cuttings.
S0 rrred IO e T S FERD
Options :

Kinetin

S8

97108314661, #

IBA

206°S aopedE eyo (IBA)
97108314662, ¥/

BAP

BoBES DS 65 (BAP)
97108314663. %

ABA
wd2NE o (ABA)

[T

97108314664, #

Question Number : 67 Question Id : 9710833670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the Phytohormone induces the expression a- amylase enzyme
- oPOE INFD ¢K)B FYR pEFES®
Options :
BAP
[0S DT LB (BAP)
97108314665. ¥
[AA

97108314666, % 20&°S AT ©po (1AA)

NAA

TR0 VAT wipo (NAA)
97108314667, #

Gibberellins

2393
97108314668, ¥ J%J

Question Number : 68 Question Id : 9710833671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the phytohormone is used for fruit ripening.
H0LER DoBoSTERE BHTPRSE 2° FERD

Options :



Kinetin
BRI
07108314669. ¥ =
[AA
306°S JVAE w0 (1AA)
97108314670. *

Ethylene

DBOI

97108314671, ¥

IBA

206" coeneodE edpo (IBA)
97108314672, % e '

Question Number : 69 Question Id : 9710833672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the phytohormone deficit exhibit vivipary.
DB D S FEE Y SHw B0l Lo
Options :

ABA

ol RS o (ABA)
97108314673. ¢ '



Kinetin
S8
97108314674, %
IBA
085S 07088 epo (IBA)
97108314675, % ©
BAP

TFoBES ©HS 3765 (BAP)
97108314676. %

Question Number : 70 Question Id : 9710833673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the crop plant is day neutral plant?
D Hotr @Y biyore Eeroew
Options :
Metha piperata
Doz DIV
97108314677, %
Cannabis sativa

Eondl &
97108314678, %



Zea mays

2O D
97108314679, ¢ o BT

Gossypium hirsutum

TeN2000 e
97108314680, % n nE

Question Number : 71 Question Id : 9710833674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the amino acid not increases in plants in stress condition.
SZeo D& $S0cHES® (Stress condition) &° & O eism a8 =oth?
Options :

Proline

05

97108314681, #

Aspertic acid
eBE wxo
97108314682, # =

Glutamic acid

KrenE eo
97108314683, %



Phenylalanine

$3Swe3s
97108314684, ¢ = -

Question Number : 72 Question Id : 9710833675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the chemical compound is CO, acceptor in C, photosynthetic Mechanism
C, 88es 2y LoBrRBADE® CO, (Kiros BRPaDS STESD
Options :

PEP (Phosphoenolpyruvate)

(PEP) rRF amrd 2HhRen
97108314685, ¢ o o
Oxalo acetic acid

e58° IVEE w0
97108314686. # i
RUBP (Ribulose bisphophate)
Ben&*S ARaR)E (RUBP)
97108314687, ¥

3-phospho- glyceraldehydes

3- %% - Har0DTrs
97108314688, * @



Question Number : 73 Question Id : 9710833676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following not related with C, photosynthetic plants?
& (Bod 0&° C, &8sy SoTrK(Ea E.‘a:ﬁ{;@é‘s Sonodsn BIS
Options :
C, Photosynthetic mechanisum takes place in mesophyll tissue
C, S°08 S%pen JErod Eeadnd® 23

97108314689, ¥  °

C, Photosynthetic mechanisum takes place in bundle sheath cells.

C, 5208 SGen TP How BT E35E” aurdi.
97108314690, %

In bundle sheath cell photosystem II is abscent

T HonES Xndns® o8 S50 I Hokd
97108314691, % St

In bundle sheath cell photosystem I is abscent

T Hoes B Zeadnd® o8 S50 1 Dok
97108314692, - o

Question Number : 74 Question Id : 9710833677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



How many number of ATP molecules required for conversion pyruvate to PEP

(Phosphoenolpyruvate)

D H08 (PEP) SR SeS pEBenrT Srdirdd ) ATP emmden so8?
Options :

3 ATP
97108314693, %

2 ATP
97108314694. ¥

5 ATP
97108314695. %

4 ATP
97108314696. %

Question Number : 75 Question Id : 9710833678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For conversion of NADP to NADPH required electrons and protons
NADP &08& NADPH &78¢rQ8 ordeld dogrsven SHbdin @Perde Sogy dos?
Options :
Two electrons and two protons

S0 JoloPQ) B Bod (DR
97108314697, % Y ¢ ~



One electron and two protons

2.8 oFR) O Botd @Fer])
97108314698, %

Two electrons and one proton

DO QTR O o8 (BFErS
97108314699. ¢ =

One electron and one proton

o8 Dol Hodoto a8 (Bf¢ra
97108314700. * =

Question Number : 76 Question Id : 9710833679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The respiratory quotient is less than one in the given compounds
& 8ol ﬁmnfgébﬂés T RBaD BK0e5 .88 Bo8 SEPrr Hokd

Options :
Glucose
ArS
97108314701. % ™
Malic acid
S8 wiho

97108314702, #



Fatty acid

S8y, edpen

97108314703, ¢
Succinate

SERE
97108314704, %

Question Number : 77 Question Id : 9710833680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The net ATP directly produced in glycolysis
ToeodBS® a8 ody 88 ATPe Jogp Jos?

Options :

2 ATP
97108314705. ¢

97108314706. # 4 ATP

97108314707, % > ALP

97108314708. # LAIP

Question Number : 78 Question Id : 9710833681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Ribose -5 phosphate produced in pentose phosphatepathway is precursor molecule for
2008555 FS o‘ﬁo'agénéﬁ &a$)8 @(ﬂ:@ B85S -5 éﬂfjojéaa & B0d >8S° 508 el gy
= Ton vt PlaViny
Options :
Ribose and deoxiribose units
BT 0805w EedBES csred
97108314709. ¢
Anthocyanin
©o&° LIS

97108314710. #

Lignin
oA
97108314711, % 2

Alkaloids

@@pwﬁj
97108314712, %

Question Number : 79 Question Id : 9710833682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the bacteria fixing nitrogen anaerobic condition
(e 7EHS TD ek LD

=
L=

Options :



Azotobacteria

WSt AB oS
97108314713, % e
Azospirillum
©E2) D
97108314714, '

Bacillus

RN
97108314715, % 2o
Clostridium

97108314716, ¥

Question Number : 80 Question Id : 9710833683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Azoll plant associated with Cynobacteria for nitrozen fixation.
o&e IHS® Hot IS @ééﬁ QO wiiy) Fdesw
Options :
Anabaena

ﬁ..
07108314717, @ ORI



Nostoc

o o E
97108314718, # &

Oscillatoria

2o &80
97108314719, #

Scytonema

28505
07108314720, # =

Question Number : 81 Question Id : 9710833684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the nutrient is required for nitrate reductase enzymes
&S BEZE DoFEws® Hot PR Horestn

Options :
Boron
97108314721. % o
Molybdenum
&6:@@%265}

97108314722, ¢



Copper

97108314723. # oh

Magnesium

ﬂ@h{ﬁ}o
97108314724, %

Question Number : 82 Question Id : 9710833685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the nutrient deficiency causes little leaf disease in plants.
& PFRE Dorodo STHdw Sod IGes® OF) o Brber SRD.
Options :
Zic
208
97108314725, ¢

Copper

97108314726. #

Manganese

e
W] "
97108314727, % TPORRR



Boron

-

Sord
97108314728, %

Question Number : 83 Question Id : 9710833686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The resolving power of electron microscope
~ LKA < )
o DFEBGR B, 6xrODoR Sogrew
Options :
0.2 pm
97108314729, %

97108314730, v 0210

97108314731, % 0-020M

97108314732, # 100nm

Question Number : 84 Question Id : 9710833687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of r RNA type is there in small submit of prokaryotic ribosome
Bo(e5E ey £H0&® Hot D AL SHDEPHEENS® HoB r RNA 855w
Options :

23s1t RNA
97108314733, %



97108314734, # 18s 1 RNA

97108314735, v 105 T RNA

28s1r RNA
97108314736. %

Question Number : 85 Question Id : 9710833688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the DNA polymerase removes the RNA primer in prokaryotic DNA replication
Sos 8 de DNA (H8%8S8° )% RNA @rSogiososs &OAow DNA rOE0E ISED
Options :

DNA Polymerase IIT

97108314737, % DNA &rOZBF T

DNA Polymerase II

DNA &FOZ3E 11
07108314738. #

DNA Polymerase (epsilon)

DNA &0FBE  (2%eeS)
97108314739. %



DNA Polymerase I

97108314740, v DNA FOITE 1

Question Number : 86 Question Id : 9710833689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In DNA replication, the two DNA strands are separated by an enzyme
DNA (%8 %86° BoX DNA £Esei 30 T2 INED
Options :
Ligase
=

2

97108314741. ¥ =

Helicase
ZrOTDH
97108314742, ¢

Topoisomerase

¢3° 5 oRB oL

97108314743, #

Telomerase

As® 5Tk
97108314744, % -

Question Number : 87 Question Id : 9710833690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the amino acid having three codons
Saeed Soferen BOUNY oS Wi
Options :
Pheny lalanine

535 woRD
07108314745, % = =

Isoleucine

oS
97108314746, ¢ N

Prolin

05

97108314747. #

Serine

97108314748, RO

Question Number : 88 Question Id : 9710833691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the histone is trimethylated in hetero chromation
88 BE5rASE° O PP 3 pSen Hotod

-]

Options :



Histone 2A

&T‘@lﬂ:é} 2 A
97108314749, %

Histone 2B

bn@j;a’:} 2B
97108314750, ¥

Histone 3

erRE 3
97108314751. ¥

Histone 4

2P 4
97108314752, % e

Question Number : 89 Question Id : 9710833692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which phase of the mitosis the chromosomes are highly condensed
S5 DS & BIE® BRwE wHES0T FoBEB0S50EE0 (Condensation) 2x5iHE08
Options :
Prophase

97108314753, # @éé} e



Metaphase

D& B8
97108314754, ¥ i

Anaphase

s
DO 88
97108314755, #

Telophase

Lodr B
97108314756 % o

Question Number : 90 Question Id : 9710833693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which phase of the meiosis recombination takes place
Eodb Edes DS D & BHEIS® DSHocHEn 2HrbeHod.

Options :
Leptotene
SPES

97108314757. % ©
Zygotene
BRES

S

97108314758. #



Pachytene

F7DES

97108314759. ¢

Diplotene
&éﬁj&S

97108314760. #

Question Number : 91 Question Id : 9710833694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Trisomics are first identified in which plant
S en & InKS® Ty InBAFOMT LT %?
Options :

Datura stramonium

BErTe ([ FeRaHo
97108314761, ¥

Pisum sativum

29D $B5S

97108314762. #
Zea mays

205 DX
97108314763, % o e



Triticum aesativiimi

BEED 5D
97108314764, #

Question Number : 92 Question Id : 9710833695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Triticum aestivum hexapliod chromosome number
BE5D PP IHS” 2 L8 ERrE o Sogy

Options :

14
97108314765 %

97108314766. # 28

97108314767. ¢ 42

97108314768, #

Question Number : 93 Question Id : 9710833696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The dihybrid test across ratio. if the genes are assorting independently
& HoBBes éééﬁ X808, a2dpder FdolE Frrrdo SoB D&
Options :

97108314769, v 1-1711



it g
97108314770. # 9 I

97108314771. #

97108314772, * +0:10:10:40

Question Number : 94 Question Id : 9710833697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the compound acts like inducer in lac operon gene regulation
o€ 207N 2y AODOENS® D IEEE (RELOMT SBERNHHD
Options :
Lactose

S
97108314773. # &

Glucose
KsPE
97108314774. % ™

Allolactose

@@‘ﬁ;@uﬁjﬁ

97108314775. ¢



Galactose

RosS
97108314776, % 8

Question Number : 95 Question Id : 9710833698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Transposable elements first identified in which plants
PR 2OJvoe)D Jwéy T » IKS® ST
Options :
Oryza sativa
20 JETe
97108314777. % = =
Zea mays

oS D
97108314778. ¢ ie

Gossypium hirsutum

RO a85e
97108314779. #

Brassica juncea

oFHE 3o
97108314780, % & y

Question Number : 96 Question Id : 9710833699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Which of the genetic ratio is recessive epistasis
©OSBE JHIPRVD Vb axdop DY

Options :

97108314781, ¢

oy
97108314782, % 15:1

9:7
97108314783, #

97108314784, % 12:3:1

Question Number : 97 Question Id : 9710833700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the chromosomal aberration not takes place within the same chrosome
& 5385 &SI BESw o8 B & HE® a8
Options :
Deletion

S aren

97108314785. #

Duplication

Erocadoreeen
97108314786, ¥ o



Inversion

D& B0
97108314787, %

Translocation

rSosoreeen
97108314788, ¢

Question Number : 98 Question Id : 9710833701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the base do not contain amino group?
oS’ (17 Hos H(Fes T8

Options :
Adenine
97108314789, % ©&AS
Guanine
f'T“;KJS
97108314790, %
Cytosine
DD
97108314791, ¥ =



Thymine

BMS

97108314792, ¢

Question Number : 99 Question Id : 9710833702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the DNA polymerase in eukaryotes synthesizes the leading strand.
QeBoEsE £HODNA (@8 B (HrdDs 85, (38588 8%)E DNA arDS08 ISES
Options :
DNA polymerase Pol O

DNA ZF9358E Pol O
07108314793, #

DNA polymerase Pol €

DNA #9358 Pol €
07108314794, +

DNA polymerase Pol QL

97108314795, % DNA 9558 Pol O

DNA polymerase Pol Y

DNA =9385 Pol Y
97108314796. ¥



Question Number : 100 Question Id : 9710833703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the gene is activated by P* Principal antitumor protein?
P (S5ed ©Qeniod (PSS & wdydd BasrSoso Dyos?
Options :

21

97108314797. ¢ P

97108314798, % RD

27
97108314799. # P

97108314800, % 1€ 1



